INTFANA(AQ)

Ratio to CMS

— T ] 1 =

Average Charged Particle Density TRNSMAX) (|r]j|<2.0, hl<2.0, p >0%

3.5 — a

- m CMS _

— --8-- Herwig 7.2.0 default ]

3 |— —&— Pythia 8.210 default —]

I ¢ Sherpa 1.3.1 default ]

2.5 — =

2 =

15 =

11— =

0.5 |- —

a) B | | | ' | | | ' | | |_

- 1 1 1 1 [ 1 1 L I |:

2 F { E

- b 3

) P o i

0.5 |- | a
1 1 1 1 | i " 1 " 1 i " 1 " |

0 50 100

2760 va Pp_

Underlying Event

P, (leading track-jet) [GeV]

Rivet 3.1.0, 2 5.5M

ts

even

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


